O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

7HIHVEIP pQ\HV] i PRIiV

ZHIHVEIPPQ\
&VDED ORUYDL $GUHQQ
&VDED ORUYDL $GULHQQ HY +yQDS eDlill &VRSRUI eW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
67HQI - QRV X Y (
+8  )2.7¢ oC
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
18(
YplpY 1$( @WIHVHQ
RV JiU DNI pUt
—XIDINHV] i PRIV
6101
+v0ODS
+8) ICS
6THPPINHV plipNHIpY 1$¢ P——
s 6Dl 7§ PRIDIVL IXIDIpN
)  IYHIIXIDIpN
wC 6Dl (WD ~XIDIpN
% &VRSRU BBEBBBBBRBRBERB BBBBBBBBBE BEBBBBEBEBR
_UTHIpY
61iIXV]
+DYLIHIHVIIP PO\
YRIJDRP , +8)
SIHQV]  _[IGIS  6]HIEGE (J\VpJ 7ISXV  7DUID  7DUDP  OAJu W —XIDIpN
&8.255e3$ 7(50(6=72. 256= 3 *p: x *5%: (
&8.255e3% 7(50(6=72. 256= $(  *m: o* *5% = (
&8.255e3% 7(50(6=72. 256= $( *m: * *5% 1 (
&8.255e3% 7(50(6=72. 256= $(  *m: * *5% = (
&63%$ 0259%, $°5,(11 3 xmi o *5% 1 (
9DUID -y]VHI -iQRVQp 3 *gz = *5% = (
&8.255e3$ 7(50(6=72. 256= 3 xmo o *5% 1 (
&8.255e3% 7(50(6=72. 256= YO T *5% = (
YRIJDRP ,,  +8)
$IHQIV]  .[IGIS  6]HIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDIpN
GWIHVEIHI pUipN
YRIJDRP , (85
SIHQV]  .[IGIS  G]HIEGE (J\WpJ  7ISXY  7DWID  7DUDP  OAJu WV —XIDIpN

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

&VDED ORUYDL $GUHQQ



O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

DRUWDRP ,, (85

$IQV] .IWG|S  6]HUJEGE (I\VpJ  7ISXV  7DWID  7DUDP %]l -XIDIpN

QVVIHVEIHIN pUipN

$] HIV] i PROi VWD) NDSFVRIDIRV UHNIDP i FLyNDI NpUl N tUiVEDQ D] HIV]i PROiV NpTKH]YplHIpi [0 Vi PtRIN - KpIHQ EHI 0 D] O,& WRGiEDQ tHDGQL

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVHIPpQ\HIV] i PRIV &VDED ORUYDL $GUHQQ



